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LEDE 0 1 —1 -100
ENDAHhERE FIEIL 0 1 -1 -100
HAEID 0 0 0 0
LEDE 7 5 2 40
SHEERE FI;EIL 6 1 5 500
HAED 1 4 -3 -75
LEDE 10 2 8 400
SMRERE FEI0 8 1 7 700
HAEID 2 1 1 100
LEDE 3 1 2 200
INSERE FEIL 0 1 -1 -100
HAED 3 0 3 -
LEDE 25 35 -10 -28.6
BNt ERE FEI0 24 24 0 0
HAEID 1 11 -10 -90.9
LEDE 29 20 9 45
SEERE FlEI0 28 14 14 100
HAED 1 6 -5 -83.3
LEDE 14 14 0 0
IRHERE FI;EIL 12 10 2 20
BFaliEIL 2 4 -2 -50
LEDE 6 4 2 50
SHERE FI;EIL 6 4 2 50
BFaliEIL 0 0 0 0
LEDE 23 22 1 45
ABERE FI;EIL 19 21 -2 -95
BFaliEIL 4 1 3 300
LEDE 3 3 0 0
ELERE FI;EIL 3 3 0 0
BFaliEIL 0 0 0 0
LEVE 9 7 2 28.6
=—2ERE FI;EID 7 7 0 0
HREID 2 0 2 -
LEVE 9 5 4 80
BEFTERE F;EIL 9 3 6 200
HREID 0 2 -2 -100
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A D E 0 0 0 0
ENDAHhERE FIEIL 0 0 0 0
HAEID 0 0 0 0
A D E 1 1 0 0
SHEERE FI;EIL 1 1 0 0
HAEID 0 0 0 0
kD E 4 9 -5 -55.6
SMRERE FlEI0 4 9 -5 -55.6
HAED 0 0 0 0
kD E 3 1 2 200
INGERE FEIL 1 1 0 0
HAEID 2 0 2 -
kD E 7 3 4 133.3
BNt ERE FlEI0 7 3 4 133.3
HAED 0 0 0 0
kD E 4 14 -10 -71.4
SREERE FlEI0 4 14 -10 -714
BFaliEIL 0 0 0 0
kD E 4 4 0 0
IRHERE F;EIL 4 4 0 0
BFaliEIL 0 0 0 0
kD E 0 0 0 0
SHERE F;EIL 0 0 0 0
BFaliEIL 0 0 0 0
kD E 20 13 7 53.8
ABERE F;EIL 19 11 8 72.7
BFaliEIL 1 2 -1 -50
kD E 0 0 0 0
ELERE FI;EIL 0 0 0 0
BFaliEIL 0 0 0 0
kD E 4 0 4 -
=—2ERE FI;EID 4 0 4 -
HRED 0 0 0 0
kD E 1 5 -4 -80
BEFTERE F;EIL 1 5 -4 -80
HRED 0 0 0 0




